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Spot the mistake

1. Jackie says that the liquid in the jug on the left measures 500 ml.

She says the liquid in the jug on the right measures 450 ml. Is she correct?
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How much liquid is there in the jug on the left?

How much liquid is there in the jug on the right?

The jug on the left has a scale that goes up in increments of how many ml?

The jug on the right has a scale that goes up in increments of how many ml?

2. Hiren says that the liquid in the jug on the left measures 40 ml.

He says that the liquid in the jug on the right measures 50.2 ml. Is he correct?
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How much liquid is there in the jug on the left?

How much liquid is there in the jug on the right?

The jug on the left has a scale that goes up in increments of how many ml?

The jug on the right has a scale that goes up in increments of how many ml?
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